Remote Communication Gate Type BN1/BM1
(A768/A769)
RC Gate Wireless LAN Unit Type A
(B646)

PARTS CATALOG

First edition, December 2004 Ricoh Company, LTD.



Remote Communication Gate Type BN1/BM1 (A768/A769)
RC Gate Wireless LAN Unit Type A (B646)

PARTS CATALOG

This catalog gives the numbers and names of parts on this machine.

1.RC Gate/Wierless LAN (A768/A769/B646) ......... 2
Parts INdeX.....cciiimiiiieciiieeisrsess s e semnaas 5

December ,10 ' 2004



1.RC Gate/Wierless LAN (A768/A769/B646)

Type BN1

° 13

A "\
45 pz




1.RC Gate/Wierless LAN (A768/A769/B646)

I?\ldoe_x Part No. Description Eséériglg/
1 | A768 1051 | Case:Lower 1
2 | A768 5800 |[Bracket:Main:Ass'y (A768) 1
3 | A768 1002 | Case:Upper:Ass'y 1
4 | A768 1060 | Decal:Front:Basic:EXP 1
5 | A769 5400 |[Moduler Coad - Line (G769) 1
6 | A768 5403 |Moduler Cord:CSS 1
7 | A768 5402 | Cable:Lan Adapter:5m 1
8 | A768 5406 | Cable:Adapter:NA 1
8 | A768 5407 | Cable:Adapter:EU 1
9 | A768 5400 |Adapter 1

10 | G020 1327 |Knob Screw - M3 1
11 | A768 6002 | Stay:Power Supply Cord 1
12 | A768 8551 | Stand:Ass'y 1
13 | A769 5800 |Bracket:Modem:Ass'y (A769) 1
14 | A7695181 |PCB:Modem:NA:Ass'y 1
14 | A7695180 |PCB:Modem:EU:Ass'y 1
15 | A768 5802 |Wireless LAN Bracket 1
16 | G628 5461 | Wireless Card - US 1
16 | G628 5962 | Wireless Card - EU 1
17 | A768 5187 | Wireless Board 11
18 | A768 1059 | Tapping Screr:M2.6x14 1
19 | A768 6005 | Tapping Screr:Fix 2
20 | G374 1410 |Sem.s Screw - M2x14 4

Index . Q'ty Per
No. Part No. Description Assembly
101 | 1607 0508 | Ferrite Core
102 | 0452 2606N | Tapping Screw - 2.6x6
103 | 0950 3006N | Screw:Spring Washer:M3x6
104 | 0701 0050B | Flat Washer - M5




Parts Index



Parts Index

Part No. Description ﬁ]?jge?( ?\lnoq
A768 1002 Case:Upper:Ass'y 3- 3
A768 1051 Case:Lower: 3- 1
A768 1059 Tapping Screr:M2.6x14: 3- 18
A768 1060 Decal:Front:Basic:EXP 3- 4
A768 5187 Wireless Board 3- 17
A768 5400 Adapter: 3- 9
A768 5402 Cable:Lan Adapter:5m 3- 7
A768 5403 Moduler Cord:CSS 3- 6
A768 5406 Cable:Adapter:NA 3- 8
A768 5407 Cable:Adapter:EU 3- 8
A768 5800 Bracket:Main:Ass'y (A768) 3- 2
A768 5802 Wireless LAN Bracket 3- 15
A768 6002 Stay:Power Supply Cord 3- 11
A768 6005 Tapping Screr:Fix 3- 19
A768 8551 Stand:Ass'y 3- 12
A769 5180 PCB:Modem:EU:Ass'y 3- 14
A769 5181 PCB:Modem:NA:Ass'y 3- 14
A769 5400 Moduler Coad - Line (G769) 3- 5
A769 5800 Bracket:Modem:Ass'y (A769) 3- 13

- Page and

Part No. Description Index No.
G020 1327 Knob Screw - M3 3- 10
G374 1410 Sem.s Screw - M2x14 3- 20
G628 5461 Wireless Card - US 3- 16
G628 5962 Wireless Card - EU 3- 16




Page and

Part No. Description Index No.
0452 2606N | Tapping Screw - 2.6x6 3-102
0701 0050B | Flat Washer - M5 3-104
0950 3006N | Screw:Spring Washer:M3x6 3-103
1607 0508 Ferrite Core 3-101

Part No.

Description

Page and
Index No.




	1.RC Gate/Wierless LAN (A768/A769/B646) 
	Parts Index 

